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FA: DisS
s SH(SUHSI/ S - SE)
ool Edsg B2 28 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olch=e 1t 5,831,447 4,466,438 1,415,009
= 634,744
Jl 45,000
= 1,288,304
Al 3,913,399
=g S4(sdildst/sg - &) 5,772,941 4,346,290 1,426,651
= 634,744
) 45,000
= 1,288,304
Al 3,804,893
deBd3se 2 22 1,610,737 1,550,026 60,711
= 105,200
Jl 40,000
S 92,888
Al 1,372,649
RIS K& 20,000 20,000 0
= 8,000
= 3,600
Al 8,400
307 el2to| & 20,000 20,000 0
= 8,000
S 3,600
Al 8,400
02 2B YA E X 20,000 20,000 0
ORIIsLAM X 20,000,000& 20,000
= 8,000
[ 3,600
Al 8,400
AT eFsaE XA 76,800 192,000 A115,200
= 38,400
[ 7,680
Al 30,720
307 lztol & 76,800 192,000 A115,200
= 38,400
s 7,680
Al 30,720
02 QB HANEER 76,800 192,000 A115,200
OYMT HEH=MS X
76,800,000 76,800
= 38,400
=S 7,680
Al 30,720
ctdsHE= 40,000 40,000 0
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2A: Olisg
F: =g B (sEHilYsd/=Y - &)
ol EdsY &8l 22 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 4,500
206 =4l 4,000 4,000 0
= 2,000
Al 2,000
01 =Yl 4,000 4,000 0
oZdar=s 54 XA 4,000,000 4,000
= 2,000
Al 2,000
301 LPBNEZ 13,000 13,000 0
= 6,500
Al 6,500
11 SHAIAHIXI A2 4,000 4,000 0
oZLr=s 54 X 4,000,000& 4,000
= 2,000
Al 2,000
14 J|Et2 43 9,000 9,000 0
oZdar=s & XA 9,000,000& 9,000
= 4,500
Al 4,500
AAars At ¥ HOHKIA 10,000 10,000 0
= 5,000
Al 5,000
201 B2 AL 5,500 5,500 0
= 2,750
Al 2,750
01 At 2elt] 5,500 5,500 0
OULE ANBR| Y HBED|
5,500,000& 5,500
= 2,750
Al 2,750
202 0idl 1,500 1,500 0
= 750
Al 750
01 =ZLHOdHI 1,500 1,500 0
OdL=s At 22| & HtEIt
1,500,000& 1,500
= 750
Al 750
301 LBBNZ 3,000 3,000 0
= 1,500
Al 1,500
11 HAFRHIXIAZ 3,000 3,000 0




FA: DisS
s SH(SUHSI/ S - SE
el dEdsY 2l 25 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ4s Atgdate| & &gt
3,000,000& 3,000
= 1,500
Al 1,500
HsHHEda A2 25,000 23,334 1,666
= 7,500
Al 17,500
201 2= 3,000 3,000 0
= 900
Al 2,100
01 At22t2lt] 3,000 3,000 0
OHsHHELSNA 3,000,000& 3,000
= 900
Al 2,100
301 EtE NS 12,000 10,334 1,666
= 3,600
Al 8,400
11 #AIAHIXIE S 2,000 2,000 0
OAH=sHAUELESNA 2,000,000 2,000
= 600
Al 1,400
14 IIEt2 8= 10,000 8,334 1,666
OH=sHHELSNA 10,000,000& 10,000
= 3,000
Al 7,000
307 gl2to| & 10,000 10,000 0
= 3,000
Al 7,000
02 QB HANEER 10,000 10,000 0
OAH=sHHUELESNA 10,000,000& 10,000
= 3,000
Al 7,000
sz d2us X2 12,000 12,000 0
= 6,000
Al 6,000
201 er2 3| 3,000 3,000 0
= 1,500
Al 1,500
01 AtR2t2|HI 3,000 3,000 0
OJIzEslIsl= 3,000,000& 3,000
= 1,500
Al 1,500
301 2eEN=S 9,000 9,000 0
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FA Olchs
s SH(SUHSI/ S - SE)
el dEdsY 2l 25 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0Z ZUFHR(SIh)
13,835,000& 13,835
= 4,150
Al 9,685
307 @I2t0| & 30,000 0 30,000
== 9,000
Al 21,000
02 LB HAHEE 30,000 0 30,000
OFe ZoUHNLH(0IL)
30,000,000& 30,000
S 9,000
Al 21,000
MESH X SEAFY 159,696 10,000 149,696
= 31,940
Al 127,7%
402 2I2F X201 & 159,696 0 159,696
s 31,940
Al 127,756
02 QI ESASEZ(0IETHR) 159,696 0 159,696
OME s ZdAY
159,696,000 159,696
& 31,940
Al 127,756
AHIESE e 2latd s Al 16,000 16,000 0
= 6,000
Al 10,000
307 @120l & 16,000 16,000 0
=S 6,000
Al 10,000
02 QA LAEE X 16,000 16,000 0
OAHIEE Hd 2&E SAHH Al
16,000,000 16,000
< 6,000
Al 10,000
MNEHA TSt A X2 36,660 0 36,660
= 10,998
Al 25,662
402 2IZtA=01d 36,660 0 36,660
=S 10,998
Al 25,662
02 RIENEASEZ(0IETHR) 36,660 0 36,660
OME A ZBAMACT X
36,660,000 36,660
< 10,998




FA: DisS
s SH(SUHSI/ S - SE)
el dEdsY 2l 25 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 25,662
SENUESFH Ag2ds N2 8,000 6,000 2,000
== 2,400
Al 5,600
201 =3 6,000 3,600 2,400
< 1,800
Al 4,200
01 Al22t2lH] 6,000 3,600 2,400
OsEISZRH AU X
6,000,000& 6,000
= 1,800
Al 4,200
202 04| 2,000 2,400 2400
== 600
Al 1,400
01 =LHOLI 2,000 2,400 2400
osEzERed AU 1Y
2,000,000& 2,000
= 600
Al 1,400
Molsgel WS 12,000 12,000 0
= 3,600
Al 8,400
201 ger= 3| 5,000 5,000 0
== 1,500
Al 3,500
01 At22t2l] 5,000 5,000 0
OMdisdel 4Eu= 5,000,000 5,000
< 1,500
Al 3,500
301 EtE N = 7,000 7,000 0
= 2,100
Al 4,900
11 #AIAHIXIZ S 2,000 2,000 0
OMollsel 4Zu= 2,000,000 2,000
=S 600
Al 1,400
14 JIEt2 8= 5,000 5,000 0
OMdisdel MU= 5,000,000 5,000
< 1,500
Al 3,500
das NHEZYH 24dat Alg 10,000 0 10,000
= 3,000




SN Dl
M Didi=g sSd(s8gidsd/s - &)
el dEdsY 2l 25 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,000
201 er23y| 2,000 0 2,000
=S 600
Al 1,400
01 AtR2tc|Hl 2,000 0 2,000
0YLs NERUM BE AY
2,000,000& 2,000
= 600
Al 1,400
301 EtE N = 3,000 0 3,000
= 900
Al 2,100
11 #AIAMHIXIZ S 3,000 0 3,000
OYLs NSDUH HH A
3,000,000& 3,000
== 900
Al 2,100
307 glztol & 5,000 0 5,000
= 1,500
Al 3,500
02 2B HAIAE & 5,000 0 5,000
OLS NSDUH HEI A
5,000,000& 5,000
= 1,500
Al 3,500
SE=sH =AY 229,000 159,600 69,400
201 =3 41,000 37,600 3,400
01 At22t2l] 20,000 20,000 0
oget=ZH| 8.,000,000& 8,000
o2g+d 5,000,000 5,000
o=gH| 2,000,000& 2,000
OZr=s SIS 5,000,000 5,000
02 s3=gHl 21,000 17,600 3,400
0Z232= % HMAl 5,000,000& 5,000
OA&EHISs X 5,000,000& 5,000
(©ul=d:] 6,000,000& 6,000
O eI 5,000,000& 5,000
202 04| 8,000 8,000
01 =LHOHI 8,000 8,000
OZEH0H 8,000,000& 8,000
203 g4l 3,000 3,000
03 A=A R =] 3,000 3,000
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SN Dl
M Didi=g sSd(s8gidsd/s - &)
el dEdsY 2l 25 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0382= £ HA 2,000,000& 2,000
206 M=l 2,000 2,000
01 MZH| 2,000 2,000
Ou=s M+ 2,000,000& 2,000
301 EetE NS 7,000 7,000
11 #AIAHIXIE S 7,000 7,000
Oul=s FAX AHIXE 7,000,000& 7,000
AEAIZ S Z0EESLSHAIMNE 2 722,546 796,892 ANT4,346
306 EG= 722,546 796,892 AT4,346
01 £¢=2 722,546 796,892 INT4,346
OUIMSLBARTYE £012
722,546,000 722,546
SPIE-Y 2,704,274 2,122,012 582,262
= 372,700
Jl 5,000
s 913,000
Al 1,413,574
SIIEHIE XIS (HEALL) 1,501,200 1,004,237 406,963
[ 870,000
Al 631,200
201 2egh=3| 1,200 1,200
01 At2t2lt] 1,200 1,200
ORJIZHIE SESAH 1,200,000 1,200
402 QI2F X201 & 1,500,000 1,004,237 405,763
= 870,000
Al 630,000
03 2IZ+RAETAIEHI 1,500,000 1,004,237 405,763
ORIIEHIE X (2-18H)
1,500,000,000& 1,500,000
== 870,000
Al 630,000
EAMEH X 306,000 168,625 147,375
= 220,000
== 43,000
Al 43,000
402 2I2F X201 & 306,000 188,625 147,375
= 220,000
= 43,000
Al 43,000
03 2IZ+LAEAIZYI 306,000 188,625 147,375
OEZIHEM XI& 306,000,000 306,000
= 220,000
= 43,000
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FA: DisS
Y s SH(SUHSI/ S - SE)
Cel: sHII=HE EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 18,000 18,000
OEY ANEXH L 24 18,000,000 18,000
201 eet23| 14,500 14,000 500
01 AtR2t2|HI 1,500 1,500
OEYATA SHABLTY
500,002 500
OEYATA 29 HIE7Y
1,000,000 1,000
02 S5=2g4l 13,000 12,500 500
O SH Y Xyl 6,000,000& 6,000
OsZ)| B&HI 1,500,000& 1,500
Oa &l =&H| 2,500,000& 2,500
o%utlgREA)| B DN
3,000,000 3,000
207 ARl 8,000 8,000
03 Alg 32t 8,000 8,000
OEZHIH 28 AESH|
8,000,000 8,000
TASA =Y 71,784 88,000 16,216
101 21AH| 30,784 18,000 12,784
04 JIZtN2Z2XNSE+ 30,784 18,000 12,784
OZHMLN 2
76,9602 x2H 25 L «8 30,784
201 Eer23 | 4,000 4,000
01 At2t2lt] 2,000 2,000
Ogt+==H| 2,000,000& 2,000
2 s5=44l 2,000 2,000
OBAAE dzbl 2,000,000 2,000
206 M=l 7,000 7,000
01 M=4l 7,000 7,000
OXABER SMANE Mz 7
7,000,000 7,000
207 ARl 10,000 9,000 1,000
03 A& 328 10,000 9,000 1,000
OZXAHEa 28 A
5,000,000& 5,000
OXALR SAANE A
5,000,000 5,000
401 AIEHIZ SR OHYI 20,000 50,000 30,000
01 Al&HI 20,000 50,000 230,000
OZXALR =324 2=
20,000,000 20,000
IEER 25 EF(XY) 34,400 34,400
= 17,200




FA: DisS
Y s SH(SUHSI/ S - SE)
el sl (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 17,200
101 @1A4H| 27,000 20,000 7,000
= 13,500
Al 13,500
04 JIZtN2Z2XNSE 27,000 20,000 7,000
ElH F=C d& SARE 22|
27,000,000 27,000
= 13,500
Al 13,500
201 Ler23| 2,000 4,400 22,400
= 1,000
Al 1,000
01 AtR2t2|HI 2,000 4,400 A2,400
OgHl Bk #d 225 7Y
2,000,000& 2,000
= 1,000
Al 1,000
207 ARl 5,400 10,000 24,600
= 2,700
Al 2,700
03 Alg 3 -2HI 5,400 10,000 24,600
gl F=5 #d O 2
5,400,000& 5,400
= 2,700
Al 2,700
s Dl A8 (20212208 30,000 0 30,000
= 15,000
Al 15,000
402 BIZtAH=01A 30,000 0 30,000
= 15,000
Al 15,000
02 QIZEHE AL E (01X THE) 30,000 0 30,000
OBiOI2Xt & HX & AEMEiAl 24&0t
A 2= Jls AY 30,000,000& 30,000
= 15,000
Al 15,000
WStEsSEEY AU~ 5,000 5,000
206 M=l 1,000 1,000
01 M= HI 1,000 1,000
Oustd=ssE AMHlA THEFY
1,000,000 1,000
207 ARl 4,000 4,000
03 A& 32t 4,000 4,000




SN Dl
M Didi=sd sSd(sgidsd/s - &)
&l sYolEHY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OlstdsAle dE8ES 7Y
4,000,000& 4,000
NS sEHEAE =29 72,900 70,500 2,400
101 @1A4H| 38,400 28,000 10,400
04 JIZtNZ22 XS 2+ 38,400 28,000 10,400
OSAMLAL 5i92 2l
38,400,000& 38,400
201 2= 14,500 12,500 2,000
01 At22telt] 1,500 1,500 0
OZHIAIAE E9H] 1,500,000 1,500
2 35234l 13,000 11,000 2,000
0332 € HMAl 3,000,000& 3,000
O2atedE Azl 8,000,000& 8,000
OAEZEHl =Xt 2,000,000 2,000
206 M=Hl 8,000 8,000
01 MHZH| 8,000 8,000
OsZIHEAE 28 Mz 7L
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fA: OldisZ o

M D=2 SH(sHilLb/s2 - 55)

Hel: sE2ZE -3 (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
sEME2E OBIE U= 14,000 10,000 4,000

201 L2 5,000 5,000 0
01 AtR2telbl 5,000 5,000 0
OsZEMg2d IPIE JEu=s
5,000,000 5,000
301 2N = 9,000 5,000 4,000
11 SEAAHIXES 3,000 1,000 2,000
O=Edg2Z IHE HEN=s
3,000,000& 3,000
14 DBt 243 6,000 4,000 2,000
SENEZZ DI J2Ls|
6,000,000 6,000
HH2SZHI(0IH=L ) (OIEHIIE 108,506 120,148 A11,642
eI 23 60,706 57,948 2,758
QI 2| 60,706 57,948 2,758
101 @124H| 60,706 57,948 2,758
01 2 60,706 57,948 2,758
OxuU2R+Y 60,706
S 12,3212 %2 +30A1 2t 128 8,872
7= 11,1302 x 1 +30A1 2t 123 4,007
oXEAb 2188 014
11,6193 x32*x30AI 2H+ 123 12,549
oXIEAt 2052 0lat
10,888 x9S *x30AI 2+ 123 35,278
Jl=3tl 47,800 62,200 14,400
Jl=2&Hl 47,800 62,200 A14,400
201 L2 7,000 7,000 0
01 AFR2t2ltl 7,000 7,000 0
oget=gl 7,000,000 7,000
202 044l 36,000 50,400 A14,400
01 =LHOALI 36,000 50,400 A14,400
O2HEZ NI 36,000,000 36,000
203 2R =& 4,800 4,800
M FA2HLRFEI 4,800 4,800
ORAMZ2EER=2A] 4,800,000& 4,800




